[BEfR-1] L EEMIBGH]) #E 6.5kmEBZ15kmU FTEAERIRZER)SE /4191 844490/ 100 m3 Xy

& b i it B | =2 HHEE fid £
PN SPUPEL i [Ava—F 71—t V] 10tFERK =] 3.900 [t Esn s fiR-1]
EME(FLH0) = 1.000

X EMEBIHHLEOHTLET D,

(BffiR-2] LR EEM(SH) B 5.5kmEHEZ 6.5km L FEAEHUIER)SE/F4IL 841441/ H 100 m3 HY
s W 7 I B % 8 #ME fi& %

ERZA PV [Avm-b- 74—t W] 10t7E#R =] 3.900 (B n s iR 1)

HHME (FDHD) = 1.000

X EMEBIHHLEOHTLET D,

Hffizk 1/2



(HmEERE MR-115 V7 oy ERR ([Ayn-F - 74—+ L] 10tH&#R)

2 ™ b5 - B % 8 #ME s
EEF(—K) A 1.000
i L 76.000
PR PLE S [Aym-b"- 74— L] 10tFE#R #MAAe 1.240
MYRRBRUHEEMHA LY FUTMys10t BEF #MAAa 1.240
HME(FDHH) =X 1.000

X EMEBIHHLEOHT LTS,

Hffizk 2/2



